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36. The motion of an infinite string is given by: I /1/ il Vil L J l i l{/j

Ut = Hlgpy \; C= Z.
u(x,0) = cos(3 Lu/

ug(z,0) =

Determine its shape at . 9/ Ly}
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5. On the interval [0, 2], there is a string. The initial form is given by f =0 I"(’é ll‘ T | (. J ‘ (/I I
function and the movement is described by the equation wj, = .. We )
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hit this string with a hammer on the interval [1/2,3/2] from below with

velocity 1. Give the shape of the St.ring:' at time £ = 3.5 with the method of U A’ l UU L c ‘V ( Q, '(/ d [ OAIJ
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(Hint: the general formula u(x.t) = ‘|—gf f
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where ufy = c*uly,. u(x,0) = f(x), uj(x,0) = g(x).) | 4 f l(
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6. Let us consider a string with infinite length. Hold down on the points

(—1.0), (=1/2,1), (1/2,1) and (1,0) and release it. The movement of the

string is described by the equation uy; = ul,. Describe the shape of the

string at time ¢ = 20! C:/Il gf = O (/‘A/l'\ﬁb VCLO(/I”?
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